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Numbers & Operations in Base 10 3NBT] I

Name Date

Rounding Numbers

: Round the
Following number following humber following number

To the nearest [0, to the nearest 10, to the nearest 100

N - ==

: 5.
Round the Round The

following number following number

To the nearest 0. To the nearest 100,
: i
: 6. Place 360 on the number line below. 7 Place 830 on the number line below.
|||||1|111|1 [T N R N N S R SR R
[ 300 400 800 400
1 Is 360 closer o 300 or H00? ______ Is &80 closer to 800 or 900? ______
: 8. Place 694 on the number line below. 9. Place 258 on the number line below.
l 1 | | | 1 | | | | | 1 | | I | | | | | | | l
i 690 700 250 260
| Is 694 closer to 690 or 700? ______ TIs 258 closer to 250 or 260? ______
i
i I0. A three digit number has the digits 2, 5, and 7 When rounded to the
i nearest hundred, it rounds to 800. What is the number? __________

---—-------------——----——--
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:-Numbers & Operations in Base 10 3.NBT.2|
Date

dd & Subtract:
JWhole

l. Find the sum. 2. Find the difference. 3. Find the missing number..

72 62 57
+29 -33 R
82

4. Find the sum. 5. Find the difference. 6. Find the missing number.

136 347 423
+ |73 - 202 +
705

7. Jesse scored 486 points 8. Mrs. Miller drove 278 9. Lanie has 225 pennies, 105
on a video game. April miles on Monday and 342 nickels, and 25 dimes.
scored 182 points. How miles on Tuesday. Write How many coins does she
many more points did and solve a number have in all?

Jesse score than April? sentence to find how far

she drove in all.

I0. The table below shows items purchased for Which number sentence can be used to
a summer pool party. find how many more bottles of water
than popsicles were purchased?
Item Number Purchased
Bottled Water 36 A 36-iz =
: B. 36+12=____
Popsicles 24
C 3-24=__
Pool Toys 12 O g gy
[ o e W sl o Rl e R Rl Il e Bl v I v Il v B e R s I v B v W v N v I s o it Y s s o ) s i ) o
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rNumber*s & Operations in Base 10 3.NBT3|

Date

MULTIPLY '
WhOIE NUMDETS:

2. Which method
shows one way to
find 4 X 20°

Muttiply 1 x 2, then
add 10

product of 3 x 807

How does knowing the
[ product of 3x 8 help
you solve 3 x 80°

Multiply 4 x 2, then

multiply by 10
C. Multiply 4 x 10,
then add 10

5. Kelly runs 2 miles
each day, Monday
through Friday.

How many miles

does she run in4

weeks?

4. Jake mows lawns [}
in the summer. He
earns $I0 for each
lawn he mows. He
mows 2 lawns
each week. How
much money will
Jaoke earnin 9
weeks?

B 50 2 - 00 nl
C.50x2=502
1] D.50x2 =1000 [

8. Which equation

A Andrew is on the
means the same

track team He

drinks has 24 cans

l m Il-tow many as 7 x 607 runs 20 laps.
al cans are around the track
1 there In 6 cases? A 7%x6+0

every day. How
many laps does he
run in 7 days?

M C 7x6+10
D.7x6x10

|

ﬁwmwlr?rq-lﬁ-------——--———-———-——--I
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F)per‘ahons & Algebraic Thinking

Name

30Al
Date

ECUal Groups
-Mutivlio

N
/;\\

. Becca collected 6 boxes
of seashells. She put 7
seashells in each box.
Which of these shows
how may seashells Becca
has collected?

ox7

6+7
OXOXbXbXbXbXb6
7X7X7X7%x7x7

I E
/
I\

OOw>

2. Which equation below is
represented in the
picture?

. 20 x4

. 5x5x5x%x5
. Hx5

A
B. I0x2
C
D

3 L|z has 4 boxes of
crayons. Each box
contains 8 crayons. Write
an expression Liz could
use to show the fotal
number of crayons she
has all together?

4. Which expression is
represented by this
array?

666866
6686606
8666086

5. Dan has 8 pages of
baseball cards. There are
& cards on each page.
How many cards does
Dan have in all? Write a
number sentence to
solve the problem.

6. Allysa makes 3 bracelets.
Each bracelet has 9
beads. She uses 3 x 9 to
find The total number of
beads. Her friend puts
onhe more bead on each
bracelet Allysa makes.
What new multiplication
fact can be used to find
the total number of
beads they used?

7. Mrs. Smith baked 3
batches of cookies. Each
batch had 12 cookies.
Which expression shows
how many cookies Mrs.

8 Draw an array to match
the word problem below.

Holly has 3 boxes of
popsicles. Each box has 5

9. Which is another way to
find the total number of
ladybug legs?

QO 9O @ O O O
RO RO
\J \J

i
I
i
i
i
I
i
B
B
i
o
i
i
i
i
8
i
A
i
f
K

Smith baked? popsicles in it. How many
popsicles does Holly have 6 + 6 +

A [2+3 all fogether?

B.12-3 A H+o

C 12x3 B. 4x6

D. 3+3+3 C. 6-H

D H+4+4+H+4+H4

HED D OE D BN N R BT aET GED R DED EE0 R ST EE DO D DT DD T D ET D B ETm e
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30A2

Operations & Algebraic Thinking

. Which equation is shown 2. Mr.Richards has $I5 o 3. Amanda has a bag of 32
by The picture? divide equally between his popsicles To give out at
3 children. Which equation her pool party. There are
could Mr. Richards use to 7 girls at her party. If
find out how much she divides The popsicles
money each of his between all the girls,
children should receive? including herself, how
many popsicles will each
= irl get?
A 8:7=4 A |5+3_I8 grig
_ B.5-3=12
C.H+2=2 D. Ex3=45
D. 4+4=| P
4. Addison read 45 books 5. Dan buys 6 packs of gum | 6. Julie drew the picture
over the summer. She with 5 pieces in each pack. below fo match an
sorts her books info 5 He shares the gum evenly equation. Which equation
equal groups. How many among himself and 5 matches Julie’s picture?
books does she put in friends. Write an equation
each group? to show many pieces of
gum will each friend %
receive?
A 3x3=9
B. 9-:3=3
C 9-3=0
D. 27+-3=9
7. Leadh bought 54 8. Nick has collected €0 A9 Abby makes 12 cupcakes
strawberries. She put rocks. He puts an equal for 6 friends. She wants
the same number of number of rocks info 5 to know how many
strawberries into 9 boxes. How does Nick find cupcakes each friend will
baskets. Write an the number of rocks in get. Which expression will
equation to show how each box? help Abby find the
nmany strawberries she number of cupcakes
put in each basket. A He multiplies 5 times 60 each friend will get?
B. He subtracts 5 from 60| A. 12+6 =2
C. Headds 60 to 5 B. 2x2=06
D. He divides 60 by 5 C B-6=3
D. 2x6=72

ller 20l6
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30A5
i
I Name Date a8
: : i
h
i 1|
I 1]
| : 18
- 0f Operaions@e |
I 1]
f 11
: Communitive Associative Distributive Zero Identity 0 E
A
W Tt doesn't matter | Y Itipl : Any ti 1]
l nu%:t?gr:\gﬁ\g howov?/zngrgag 1'\'?; sgrlixcbci;‘ nr?jﬁgylynz \Ag:\en we rg\uﬁz)ply mul?igly ??\Jr%%er I |
change the order, numbers. The each addend \/Jrgumr e(rj‘ 1 i by one, the product '
l but the product product stays the | separately and then zer‘%lw Ge 5 z%r%c S is The original l
I stays the same. same. add the products. Y ' number:. I
| 2X3=3X2 2X(3X1)=(2X3)XH | 2X(3+N=2X3+2X9| €X0=0(0R)0X6=0 | IX1=9(0R)1X9=9 {}}
i i
i | Which expression is equivalent 1o 2. Given the equation 2 x 8 x 5 = &0, i
i 3x (6(+ C%)?) Gy which expression also equals 80? 0 |
A 3+6)+(3+9 A 2+8+5 |
b B. B3x6)+(3+9) B. 8x5 0
f C 3+6)+(3x9) C. 5x2x8 i
[ D. B3x6)+(3x9) D. 8x5x%x3 0
I 3. Which number sentence is true? 4. Which number sentence is not equal? |}
i A U4xBx2)=Hx5)x2 A 8+2=2+8 A
B. Ux(5x2)=4x5+2 B.8x2=2x8
f i
l C. UY4x(Bx2)=H+5)x2 C8x?x?=@x@x% 0
RITLS S S D. 8x(2+4)=8x%x2+8xH4
! 5. Which number will make the 6. Which number will make the number !
i |
1 number sentence true? sentence true? i
i Ux(2x6)=MHx___)x6 6Xx7=___X6 i
lZ'mea@mMe5x0=QBon 8. The example | x 94 = 9,is an [
[ example of which property? example of which property? l
i A. Distributive Property A. Zero Property f
f B. Identity Property B. Associative Property i
i C. Associative Property C. Identity Property I
; D. Zero Property D. Distributive Property :
8

iller 2016



F)peroﬁons & Algebraic Thinking 30A7 i
! Name Date

'Bﬂ(@llif WPLY

H 8x7=_____
5. 3x0=_____ 6. Ax5=_____ 7. 6Xb=_____ & Ux3=_____
9 H82-+6=____ |00 24=4=___ I 8+9=_____ 2. 32 -8 = _____
3. 20+2=____ |H 3%6+9=___ |5 72+8=___ |lb.2+3=_____
[7. Write a 18. Write a 9. Write a 20.Write a
related fact related fact related fact related fact
ford x4 =le. for5x3 =105 for 27 -9=3 forH40 -8 =5
- = = = X = X =
2. Mr. Nix has 8 22. Lacihas &8 23. Erin's dance 24. Randy had

grandchildren. He
wants To give
each grandchild 3
books. How many
total books does

he need? write an
expression and solve.

cookies. She and
3 friends share
them equally.
How many
cookies did they

each gef? write an
expression and solve.

teacher wants o
put 48 dancers
info 6 groups.
How many
students will be in

each group? write
an expression and
solve.

guitar lessons 7
Times each
month for 9
months. What
was the total
number of guitar
lessons Randy

had in 9 months?
Write an expression

e R wED B
im Miller 2016

and solve.
Write The related facts (Fact family) for the ar‘r‘oys
00000 _x__=___ ze000___x___=__ 2700__x__-=
O0000___x___=__ OO0 ___x___=___ O x -
O { | I
Oo0o0o0o___ - - ood___ - = I
O0—-
00

6--—----
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I Operations & Algebraic Thinking 30A8 0
: Name :
1 NN f =23 g
[ 5 %) st |
l - (L INAR SNy .O"'~ l
T RERIRA N
: \/obD PRoBLelns b 003 |
ERRNRRRRR RNV ANARE RN ARARA] ol R I
| H | Callie had I3 new pens. 2. Wesand Joeyeach H H3 Kylie had a pack of H8 |
l = She gave 2 pens to = have 7 baseball cards. | H crayons. She lost 8 of l
H  each of her 6 friends. H  Ben has 5 fewer 1 H  the crayons at
l - How many pens did — cards thanWes and H H school and her sister I
JE  shehavelert? 5 Joey combined. How | H  broke 4 of them. i
s = many baseball cards H B How many crayons
IE = does Ben have? H H  does Kylie have now? HJ
I H A |pen H A 2 baseball cards — HA ©0crayons I
l —B. |lpens 1 B. 5 baseball cards — KB 52 crayons l
I 1 C. 12 pens - C. 9baseball cards — HC. 36 crayons l
D. 2 pens — D. 10 baseball cards = HD. 12 crayons
I IHIARRNRNARRERARRENRRRNRENY [NIEANRRANERREVARNARRNNRENARIANY EITARANAVERNERALNRRRRERNNANI I
| S NERRERERRRNRINERENNRRNRRRIRN [T T |
i H 4. Mark got $I0, $20, $i5, 5. Pete caught 4 Fish. H 6. Kat has 3 piles of
H  and $5 as birthday H  Robbie caught 3 H  rocks with 7 rocks in I
| - gifts. He wants to - times as many fish - each pile. Her friend l
= buy a game that H  as Pete. Nic caught = adds more rocks to
I = costs $55. How much = 27 fish. How many =  the piles. Now, there l
f = more money does he 5 more fish does Nic =  are 3Z rocks total 1
= need? = have than Robbie? = How many rocks did
l - - - her friend bring? l
1 H A $4 H A 24 more fish H A |lrocks i
= B. $5 — B. 15 more fish 4 B. 12 rocks
IHc 36 | C. 8 more fish H C. 2l rocks i
B H D. $8 H D. 7 more fish H D. 22 rocks [
T RINEARRNRNRRRATAR RN AR I I T
I T T T ol K llllllllllllﬂllllIllllllllll,I
l H 7. A farmer fills 4 — H & Taylor spent 40 1 9. Andrea wants to = I
1 H  cartonswitheggss. [ H  minutes at the =l  save 900 Box Tops. [
| Eachcartonholds6é | |  beach She ate lunch | Shesaved35inone |5 [
IH  eggs After the = H  for 27 minutes and e month. She saved 83 H ||
i = farmer fills the | H rlayed a game for 32 | the next month. ]
= cartons he has 3 H B minutes. She spent = About how many — l
BEH eggsleftoverHow H H  therest of the time - more Box Tops does H ||
|  many totaleggsdoes | |  swimming. About how g Andrea need to save? 5
I H the farmer have? H B long did Taylor spend —{ A Fewer than 300 ] I
IE H E swimming? —{B. between 300 and 600 i
HA 2/7eggs C Zleggss HHA Bmn  C 49min | HC between 600 and 800 5
BEle 74eggs D 20eg9s H He 30min D 59min 5 D, more than 800 SL
I T T TN [HITERRRANARRARRRRIRRERREARD IHIHIH\HIHHHII]IHHIIH‘l
.

L O R I T v TR S g g T




rOper‘aJﬂons & Algebraic Thinking

l Name

Date

FIND THE

Partern

3OAO||

VV VYV VvV VvV VvV VvYy

1.

. If the pattern continued,
what humber would come
next in the sequence?

3,715 ___
What rule does the pattern
Follow?

2. What are the missing two
numbers in This pattern?

, 2,4, 8, —,

What rule does the pattern
follow?

3. IF the pattern continued,
what number would come
next in The sequence?

q,12, 15 18, ___
What rule does the pattern
follow?

4 The numbers on the
triangle Form a pattern
from the top to the
bottom. What rule is
fFollowed o make the
pattern shown?

add 50
add 25

. subtract 50
subtract 25

5. Which shows the shirts
arranged in a pattern
counﬂng b\/ Five?

$olo

S R—TX S

) @) o >
E3C3EE
@@@3.
EIE3EIES
&
(E3EEE

6. Which statement is True
about this y and z chart?

QIO N[O QL
NSO FEj N

OO®>
< < <L
NN ON
o un
S ISN N

P+

N

Which is true when any
number is multiplied by 27

The answer will be even.
The answer will be odd.
The answer will end in 2.
The answer will be a two-
digit number.

OOw >

& Torisaid that anytime an
odd number is multiplied
by any other number,
the answer will always be
an odd number. Which
multiplication fact proves
Tori is incorrect?

A 3x7 C. 7x5
B. 5x6 D. 9x3

OOw>

9. Larry found a pattern
when he multiplied
numbers by 8 Which
pattern could Larry have
found?

all products are odd numbers
all products end in 8

all products are even numbers
all products end in O

I0. Mrs. Brown's class is studying patterns. Four of her students made the statements below.

Ricky said, “Adding two even numbers equals an even sum.”
Tara said, “Adding two even numbers equals an odd sum.”
Alex sald, “Adding two odd numbers equals an odd sum.”

Lani said, “Adding two odd numbers equals an even sum.” _ Ricky is correct.

A
Which student is correct? % Tara is correct.
D

Alex is correct.
Ricky & Lani are correct.

lller‘ 2016
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What fraction of the
shape is shaded?

2. What fraction of the
shape is shaded?

N

3. What fraction of the

shap

e is shaded?

Amy's fFamily had pizza
For dinner. The shaded
parts below shows how
much was eaten. Which
fFraction shows how
much pizza was left?

5. Which fraction model
shows_2_shaded?
6

The circle below shows
one whole. Shade the
circle to show 3 .

8. Kasey drew a hexagon
and shaded i‘r%.

Which shape could be hers?

" 7

4 Mrs. Smith cut an apple I

intfo & equal slices. She
gave 3 of the slices to
her son and 2 slices to
her daughter. Which
fraction model shows
how many slices Mrs.
Smith has left.




i Nurmber and Operations - Fractions

3NF2 I

Name

Fractions

On which number line does the point best

number line below?

- & " " " —>
0 1
a

D5

2 1 1
AE B C

represenfl?
X
N ae——FP— —t + —t — | S r ! -+ +

0 1 0 X 1

B <t L 4 + } — | D t - -+ —
0 1 0 X 1

C < D — |0 @
0 1 0 x 1

D = 0 + L + } + — | ) < + e
1 0 1
3. What is the value of point P on the 4 Pat is going To plot a point of on the

number line below
Where should Pat plot the point?
A B C D
-+ *—o—o—9>

5  What is the fraction on which the smiley
face is located?

<« )\ . A
0 -/ ) ;»
2 1 1
AG B2 C3 D 1

6. What fraction belongs in the box?
< -

1 1 2
Ag B.= o D

\

(=
R

1
2

7. The number line below is divided into equal
parts between O and |. What fraction is
shown by the shaded part of this number

line?
<  } t $ t +—>
0 1
1 1 2 a
A 6 B. 5 C. 5 D. 2

8 What is the inferval between each point
on the number line below?

1
T

\4

E o

Rl +

" . L
L L) T

0-1-

1 1 1
A1l B Cg D3

9 Jake’s race is divided into checkpoints on
The number line below. How far through
the race is Jake when he reaches

0. What is the length of the line segment
below?

checkpoint X? < ']l :' ' ; ; , —
I 2 x ’ ) 2 ' 0 1
- ' ' ' T 1 1 2
I 4 a 1 1 A BE CF D1
l A3 B.5 Cs D.2
--------—-------------—--—-

@
o)
3
o
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rNumber and Operations - Fractions 3NF.3 I
l

Name Date l

cquivalent Frq clions!

[ Which shape Is at the fraction % on the 2. Which fraction on the number line is equal

number: line? to one whole?
AR DS T S S
A /'/— v pr .

\/ 4 @ > A €7 5 5 5 5 6

i ; : | b 5 1 2 4
3. Model | and Model 2 are each divided into 4. Which model correctly compares the two
equal parts with 3 parts shaded on each fractions below.
model. Which statement correctly 4 5

compares the two models?

Model | ____Model 2
B o N

A Model | is equal to model Z because the numerators
are the same.

B.  Model | is greater than model 2 because it has a
larger denominator.

C. Model lis less than model 2 because 3 parts out of
6 is less than 3 parts out of 8.

D. Model lis greater than model 2 because 3 parts out
of 6 Is greater than 3 parts out of &

5. A recipe for trai mix requires the 6. Four fenths of the model is shaded below.
following ingredients. Which fraction is equivalent to the shaded
‘ . 5
-%— cup of peanuts % cup of sunflower seeds |n of This modefs
1 ~ 2
| - Cup of raisins 4 CWP of almonds A % C %
| Which two items did the recipe require the
same amount of? 6 4
B. 10 D2

£ F L LAl 000 .

7. Which list includes equivalent fractions? 8. Which of the following is equivalent to %?

y
1 2 4 2 3 4 5
B4 4 D. 2 4 B 1 p 3

9. Janie ate the shaded portion of the pie. Write
two equivalent fractions that represent the -
portion of the ple that Janle ate. =

oo I oreevs [ e ) e Qi 2o o5
im Miller 2016

I
[
0
i
i
i
i
i
i
0
[
b
i
i
f
[
i
I
i
i
i
f
0
f
i
B
f
i
i
K
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i Measurement and Data

S

()

Te 0

%‘l"'""""

|

Julia went 1o the poal &0
minuTEsS :F*ar Te Tme
Shiowmn On The clock. wWhnot
Tme did Julio go 7o the pool?

A 12D
B ™0
~ oo
L 42U
D Z40

Liv's brhaay party lost one
hour and Thrty minutes. The
CIOCK Shows whoT TIme her
orThacy party ended Wnat
e did Lity's brrithdoy part

0 s
5 &
& 8

(‘
()
o)

)
C

Which clock besT represams
TTe Tme shown on The digidl

Clock?
12:50]

o

2T

iyl A

n

an

ngﬂ%lﬁ

Mrs y‘n
cooking 45

befors The ‘?‘me SnNowWn
on The clock WnoT Time
was T when Mrs Smith

af"‘w‘

—
TeS

started To cook?
-2 A 530
C 530
D. 55

The Time now s 370 -:K_,
hos To leave For base
practice n B minutes
Which clock shows The
Time Jake will leave For
bassball practice?

Molly lecves For ner
grandparenis house at the
TIMe shown on The clock.
She gets back home 3
hours and 30 minuTes laTer
What Time did Molly g7
nome?

A &b

B &4
C &00
D 530

3MD] [

(03]

KYF— leaves his house
at 230 o go 7o wak
"xs dog oylor leaves
her house 20 minutes I
earier To wak ner
dog Wnat T1me dd
Taylor start waking
ner dog?

k20
0
240
240

l

A
B
D
Kaose

(I

I

{

I

i

I

i

i

oS ige up at 5'
am She egis

:re:xk—us‘:*'/?_o l

..\'T",hC)W longis it '

Frer Kasey geis up

2?3?‘—”:"‘69”7‘ l

i

|

i

I

i

I took B minutes '
Lor Scoit to wak 1o
Mark’s house. IF he
left at 748, what
Tme did Scott geT
7o Mark’s house?

I
I
l
i
3
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g Measurement and Data

[ Mr. Hackberry counted the
number of animals on his
farm. He counted H cows, 9
pigs, [7 chickens, and 6 goats.
Make a bar graph to show
the number of animals on
his farm.

Animals on Hackbermy Farm

Co

O

N

_J—-“—‘—-‘—O

Number of Animals

oON b O

Cows Pigs  Chickens Goats
Type of Animal

How many more chickens
are there than pigs?

3 more C. 9more

lZ.
LI

B. 8 more D. Ilmore
3. How many animals did Mr.
Hackberry have in all?

A 46 animals C. 40 animals
B. 45 animals D. 3l animals

Survey friends and family
members about their
favorite color. Make a
pictograph to show how
many people liked each
color. Based on your results
create a question with
answer choices about your
graph. Be sure fo circle the
correct answer.

Lo o [ e [ sl e [l s B e B oo Bl weavsse B s B e
£

4 Jillan surveyed l6 of her
friends about their
favorite type of cookie.
Her results are below.

Chocolate Chip | 6
Sugar 3
Oatmeal 5
Ginger Snap 2
Draw a pictograph to show
the number of people That

liked each cookie.

6. The cheerleading tfeam held I
a bake sale fundraiser.
Each ifern cost $I They sold |
450 cookies, 200 cakes, 350 l
brownies, and 600 pies.
Make a bar graph to show l
how much money they
earned from each item
sold

Favorite Type of Cookie

Chocolate  Sugar Oatmeal Ginger
Chip Snap

= 2 People

Bake Sale Fundraiser

8

g

8

g

Money Ralsed
3

o 8

Cookies Cokes Brownies Pies
Type of Treat

5. How many more people
liked oatmeal than sugar?

A. 4 more C. 8more

B. 3 more D. Zmore

Favorite Color

Red

Blue

Green

Yellow

@ = 2 people

7. Based on the results, which
ifem should they make
more of to sale at their
next bake sale fundraiser? ||

A cookie C. brownies |

B. pies D. cakes

8. What interval was used
for this scale?

0.
A —— A
g - B

I—---——-—---—-——---———-———-—II8
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i Measurement and Data

I Name

MEOSUrng

Which measurement is
closest to the length of
the paperclip?

1 3 a1 1
A1y By C24 D23

4

2. Katie measured the
length of some straws.
The length of each straw
is plotted on the line plot
below. How many straws
are less than 7 inches?

X

X X X

X X X X
X XXX X
b 7 74 73'» 74 8
A7 B.6 C3 D. 1

3. Which measurement is
closest to the length of the
crayon?

L 2 )
Llllll '
raron ]>
1 2
A3 B'ST C34 D.3

I
' .
]
[
I
B
i
i
i
[
[
f
I
i
f
[
0
i
i
i
|
|
f
i
g
i
i
i
i
I
Kim
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4 Jenny measured the rocks in
her rock collection to the
nearest 4 of an inch. How many
rocks measur‘ed more than 13
of an inch?

X
X X
X X X
X X X X X
X X X X X
Dl 13 13 3 2
All B 9 C.5 D.Y

5. Which measurement of string
is closest f033 ?

lO— 1 2 5 4 5 /A
_l;l.lnhlxl;’lelllllllll

OO >

6. What is the length of the
pencil to the nearest 4 inch?

|: 1 2 ) 4 5 b
_illl[lllllll'lelJll[Llll

1 1
Aly B25

a1 1
C44 D.52
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Name Date i

Area s¥'Shapes

The side lengths of a
square are | foot long.
Which measure
represents the area of
the square?

Pt |

| £1.

| square foot
| Foot
4 square feet
4 Feet

OO®>

N

Figure X'is divided intfo 3
parts. Which statement
about Figure X is
correct?

|
sguare
unit

|
square
unit

A. Figure X has an area
of 2 square unifs,
because there are 2
sqguares.

Figure X has an area
of 3 square units,
because it is divided
info 3 parts

Figure X has an area
of H square units,
because, a total 4
square would cover
the figure.

@Em TED s Wmn aEm
im Miler 2016

®

9)

What is the area of
each square untt in The
figure below?

I6 square units
12 square units
4 square units
| square unit

OO>>

Which statement is NOT
true?

A. Two square units
have an area of 2
square units.

B. A unit square has an
area of | square unit

C. Aunit square has a
side length of |
square unit.

D. Area canbe
measured using
square units.

Which of the following
could be represented by
80 square feet?

A the area of arug

B. the length of a house

C. the volume of a block

D. the perimetfer of a
living room

What is The areq, in
square units, of the
shaded figure?

A 9sqguare units
B. & square units
C. 12 square units
D. Isguare unit

The figure shows the
length and width of the
tile. Which statement
about the file Is True?

| Ft

| Ft o)

I £

A The file has an area
of 4 square feeft,
because | x4 = 4.

B. The file has an area
of 2 square feet,
because | x| =2

C. The file has a unit of
| square Foof,
because I x| = |

D. Area cannot be
determined

20,
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| The diagram below 4. The dimensions of a 7. What is the area of I
shows the dmensions picture frame is the shaded figure
of a garden. What is shaded on the below?
the area of the diagram below. What
shaded portion? is The area of the

picture frame?

2. What is the area of D = | square inch
the shaded figure 8. What is the area of
below? the shaded figure

5. The pattern on a rug below?
is shaded below.
What is the area of
the shaded pattern?

i
0
0
f
i
f
l———l = | squape yard ¥ : D = | square unit I
i
I
il
J
i
l
i
0

D = | square unit

3. How many L shaped = | square vard
pleces would it Take D 3 Y
to cover the shaded bathroom
Figure? 6. Mr. Jones is putting

tile on the floor of
his bathroom and
kitchen. What is the
area of the floor he
plans to cover with
tile?

wood BuiA||

|_—| = | square yard

pay
3
K |
o)
o]
N
o
>
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l Name Date

IEdentifying
SHAPES

l | Which quadrilateral Which pair of polygons i I
| has only one pair of are parallelograms? 7. Tessa drew a quadrilateral with l
i parallel sides and no . only one pair of equal sides. i
right angles? A Q <:> Which shape could she have
: A S BQ lcbi\r‘own’ir | :
. rectangle
l B. i / B. rhombus
c D C. square I
I~ : D : A D. trapezoid i
: | N o) 8. Which figure is described below? |
2. Hattie drew a shape . has Y right andl |
ght angles
i that cannot be D. ¢ % - has 4 congruent sides |
classified as a - Has two sets of parallel sides
| rhombus, rectangle, _ , i
or parallelogram. 5. Which of the following A circle
il Which shape did she stafements about B. rectangle 1
i draw? square and rectangles is C. sauaré
- correct? au I
l A B. Eas D. triangle '
A. A square is type of
I I —— rectangle with 5 sides. 9 Ricky said the shape below is a I
Ic D B. A square has 4 right quadrilateral. Which statement
' ' angles, but a rectangle explains why he is incorrect? I
| has O right angles. |
I C. Asquare is a type of
| 3 What is the rectangle with 4 equal l
G w sides.
l g:;fg;‘:rg: dbf tween a D. A square has Z pairs of :
5 parallel sides, but a :
I rhombus*® rectangle or)ly has | pair A gdcétfdmla’rer*ol must have 4 I
g A. A rhombus has 4 of paralel sides. B. A quadriateral must have 2 i
obtuse angles. _ sets of parallel sides.
I B Asquarehas4equal 6 Whatis true about all C. A quadriateral must have ||
5 sides. quadriaterals? to acute angles and zero
A rhombus only has : right angles. I
| one pair of pardllel A They have ftright andles.  p A"quadnilateral must 2 i
q sides. B. The have | pair of parallel sides and at least |
D. A square has 4 right parallel sides. right angle. f
l angles C. They have 4 right angles. l
' D. They have 4 sides.
I--_—-——---------—---—------l

© Ki ller 2016 24.

3




